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4-22.Solve (x -3)>-2=x+1 graphically

4-23. Graph a system of equations to solve 2 |x - 4| -3= %x -3.
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4-24. Solve each of the following equations using any method.

a. -3J2x-5+7=-8

b. 2|3x+4|-10=12
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4-27. Solve the following equations. Be sure to check your answers for any extraneous

solutions.
a. V2x—1—-x=-8

b. V2x—-1-x=0
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4-28. Find the value of x.

a.

15 39

30
10

]

Use the solutions to check your
answers carefully.

You have 5 minutes.

-Use a pen, record your scores
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Follow the instructions on the hand out

You can do the work on the hand out or
in your own notes. This work will be a
good resource for tonight's assignment

and upcoming work. be S uvre Yo
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